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QUESTION 1

In-Band T.120 uses the 

A. ISDN Channel 8 and Dial Up Analog Modem channels. 

B. MLP and HMLP channels 

C. Fifth and Sixth channels of ISDN calls. 

D. None of the other alternatives apply. 

Correct Answer: B 

 

QUESTION 2

The G.722.1 operates up to frequency response bandwidth of 

A. 7000Hz. 

B. 12,000Hz. 

C. 600Hz. 

D. 1200Hz. 

E. 4800Hz. 

Correct Answer: A 

 

QUESTION 3

Which video coding is currently supported by H.320? 

A. H.261and H.263only 

B. H.263 only 

C. H.261, H.263 and H.264 

D. H.262 only 

E. H.261 only 

Correct Answer: C 

 

QUESTION 4

E1 trunks are capable of supporting up to 
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A. 5 - 384,000 bit per second connections. 

B. 7 - 384,000 bit per second connections. 

C. 6 - 384,000 bit per second connections. 

D. 4 - 384,000 bit per second connections. 

Correct Answer: A 

 

QUESTION 5

What effect does the zoom function have relative to the camera\\'s field of view? 

A. It can either widen or narrow the field at full zoom. 

B. It narrows the field at full zoom. 

C. It widens the field at full zoom. 

D. It has no effect on the field of view. 

Correct Answer: B 
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